Quadratic Equations 27. 271 -3(1—2)2=0

Solve the following quadratic equations or  og —2(22 —3)2+18=0

explain why there is no solution.
29. 16(x — 2)2 =25 =0
1. 22462 —16 =0

30.
2. 202 22 —4=0

31.
3. 222 4+3x—-1=0

32. =64 —49(4—x)2 =0
4. 922 — 122 +4 =0
33. 3(z —17)* =30 = -5
5. 32° +4r+5=0
34. 17— 33z +1)* = 2
6. 402+ 32 =1
35. 22— 32 —18=0
7. 202 =4x -5
36. 10022 4 1200z + 3200 = 0
8. 2(z*+3z)=12*—6

37. 22 -6 —T7=0
9. 222+ 2 —1=23z

38. 22 =2

2 _
10 a7 =8 =20 =0 39. 36(4z — 3)> = 25
2 _

Hoam 4G =31 =0 40. 922 — 180 — 27 =0

12. 22 —1024+9=0 9
41. 16z +8x+1=0

13. 22— 824+ 7 =0
o 42, 22— 81 =0

14. 22 —4x+8=0
43. 202 —4x +5=0

15. 22 + 122 =0
44, z* 4+ 1223 + 3522 = 0
16. 2> — 6 = 3x
17. 22 — 24 = 10z
18. 2> =6z +7
19. 22 +42+13=0
20. (x—1)2=9
21. (2z +1)2 =100
22. (1-22)*413=0
23. 16 = (3z — 5)?

24. 4(2x +3)2 =9

25. 25(x +1)2 =1

26. 4(2x 4 4)? = 32
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Answers:

. 2,-8

No solution.

—1

=

)
No solution.

—-3+3

1+v3
2

10, —2
—34+2V10
1,9
1,7

No solution.

0,—12
3+/33
2
12, -2
7,-1

No solution.

4, -2

—
—

9 _
29

vl

No solution.

28.

29.

30.
31.

32.
33.

34.
35.
36.
37.
38.
39.
40.
41.

42.

43.
44.

2.1
7,9

No solution.

17, -3
2,4
6,—3
—8,—4
7,—1
0,1
35
3,-1
-4
+9

No solution.

0,—5,—7



